wWOM OB R AR A H

4 2 W e B 5 BOOR

AL IEE) LR AR R B ER T ELEMBRSRMES - R BT RFESA=HH REFRRZE
4 RS 0 653,000,0000C (Y “FZN4E+ A =+ —H : #%#653,000,00070) ° 7 5 5 B (A I 28 55 17 40
AN A

A B HE 2 LB

A A5 T 5 20 A1 W S R 3 1) 0 T I S B 5 A A A T R SRR o TR A A S 5 T AR v A v B R B B T
B A EERARHUARBIEFEH

Uit 3y 4 e Sk ¥ O
REFRFAFAAZTH - ARMEI A GRB G E B G0 102 (R -FFWEFZA=1+—H 101
(FEF0)) o LA A0 £ 6 L AR A B 00 e B B ML i (R = BB AE + = A =+ —H i (

)) o i BT B A I ZE RN E S EFMEAEIMARNIEERES -

D 30 4 oK

AEEZRFEANA=ZTH - AEBERHBEAFANE THEANBS6,680 R —FFMWEF—A=+—H:
6,941) ° {§ B 89 F AL & LAR B B T2 JE e K A8 B /o S HE o A5 HILRG 45 AR 3 B T A9 B B R B I i 45 1 DA o M
Mt o ASE BN 22 T A OR A B e ) % vl B K Y (B K AR A R A R o

B I F AT BN BB R A F) B SU R IG E  Z i 2r RE A B R A

R BBIAENA S H o AR 7 B HOA B b G 96 53 % B0 S ) (T3 %5 B B 009 )) S XV D)
2 78 5 o AT AR e B A 0 00 5 XV SRR A A ) B VI 5 5 AT RS ] (IS ) 2 i B
(2 AL e 5 00 0 07 B0 SC 08 % 00 S0 B T 2 W SRR 5 AL e 000 0 8535 200
RO SR T B R 2 Wl B SRR S s S b TR (LI LR D) B 2 71 2% ) B 0 7 5
5 0 e < RN 67 7 8 ) B0 52 B 2 W BRI

(D AAR A GBI 2 S SR

e 56 ARAHZ Wb ¥ H e By e
W8 R (%)
Ze AR (st 1) 7N 2,500,087,000 = 60.68%
HE DRSS (M AE2) A 35,000,000 - 0.85%
1Y i 6
2005

22



